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Quadratic Functions

 Standard form ax? + bx + ¢

* Vertex forma(x — h)? + k
* Any Quadratic function can be written in
vertex form



Find the vertex of the following
functions

cy=2(x—4)>+7

)+ y=2(x+4)%+7
Q) e y=2(x+4)=+7
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Converting to vertex form

Ex\e y=2x2—3x+4
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Write the following function in vertex
form

Eﬂ: « f(x)=6x—3x*-5
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To describe the graph of a Quadratic
Function
* Vertex (h,K)
* Axis of the parabola (axis of symmetry) x=h

* Parabola opens upward (a>0) parabola opens
downward (a<0)

« Initial value (y intercept) : f(0)=c
» Xintercepts (quadratic formula)
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